To Sylvie Tremblay

SALESPERSON	JOB	PAYMENT TERMS	DUE DATE
Celine Dupuis	Designer	Due on receipt	8/1/2020
QTY	DESCRIPTION	UNIT PRICE	LINE TOTAL

Mom's Mask FIT FIRST

64 St-Laurent, Montreal, Quebec Phone 450 - 346 - 1267 Moms@Masks.com

INVOICE # 2020-02 DATE: 6/17/2020

Make all checks payable to Celine Dupuis

QTY		DESCRIPTION	UNIT PRICE	LINE TOTAL
65	Standard Masks		10	650

SI	UBTOTAL	650
SA	ALES TAX	84.5
	TOTAL	734.5

To Peggy Howard

SALESPERSON	JOB	PAYMENT TERMS	DUE DATE
Celine Dupuis	Designer	Due on receipt	8/22/2020

QTY		DESCRIPTION	UNIT PRICE	LINE TOTAL
20	Standard Mask		10	200
10	Kids Mask		10	100

Mom's Mask FIT FIRST

64 St-Laurent, Montreal, Quebec Phone 450 - 346 - 1267 Moms@Masks.com

INVOICE # 2020-06 DATE: 7/8/2020

Make all checks payable to Celine Dupuis

SUBTOTAL	300
SALES TAX	39
TOTAL	339

To Dominique Mignault

SALESPERSON	JOB	PAYMENT TERMS	DUE DATE
Celine Dupuis	Designer	Due on receipt	9/9/2020

QTY		DESCRIPTION	UNIT PRICE	LINE TOTAL
40	Standard Mask		10	400
10	Kids Mask		10	100
10	Women's Mask		10	100

Mom's Mask FIT FIRST

64 St-Laurent, Montreal, Quebec Phone 450 - 346 - 1267 Moms@Masks.com

INVOICE # 2020-07 DATE: 7/26/2020

Make all checks payable to Celine Dupuis

SUBTOTAL	600
SALES TAX	78
TOTAL	678

10

500

To Jean Carière

SALESPERSON	JOB	PAYMENT TERMS	DUE DATE
Celine Dupuis	Designer	Due on receipt	9/28/2020
QTY	DESCRIPTION	UNIT PRICE	LINE TOTAL

Mom's Mask FIT FIRST

64 St-Laurent, Montreal, Quebec Phone 450 - 346 - 1267 Moms@Masks.com

50

Standard Masks

INVOICE # 2020-08 DATE: 8/14/2020

Make all checks payable to Celine Dupuis

THANK YOU FOR YOUR BUSINESS!

	SUBTOTAL	500

SALES TAX 65

TOTAL 565

20

200

To Jean Pierre Brunet

SALESPERSON	JOB	PAYMENT TERMS	DUE DATE
Celine Dupuis	Designer	Due on receipt	10/22/2020
ΟΤΥ	DESCRIPTION		CE LINE TOTAL

Mom's Mask FIT FIRST

64 St-Laurent, Montreal, Quebec Phone 450 - 346 - 1267 Moms@Masks.com

10

Deluxe Masks

INVOICE # 2020-12 DATE: 9/7/2020

Make all checks payable to Celine Dupuis

	SUBTOTAL	200
	SALES TAX	200
	TOTAL	226

To Helene Thibault

SALESPERSON	JOB	PAYMENT TERMS	DUE DATE
Celine Dupuis	Designer	Due on receipt	11/6/2020

	QTY		DESCRIPTION	UNIT PRICE	LINE TOTAL
e	50	Standard Mask		10	600
	30	Kid Mask		10	300
	30	Women Mask		10	300

Mom's Mask FIT FIRST

64 St-Laurent, Montreal, Quebec Phone 450 - 346 - 1267 Moms@Masks.com

INVOICE # 2020-13 DATE: 9/22/2020

Make all checks payable to Celine Dupuis

SUBTOTAL	1200
SALES TAX	156
TOTAL	1356

To Erica Mangiac

SALESPERSON	JOB	PAYMENT TERMS	DUE DATE
Celine Dupuis	Designer	Due on receipt	11/16/2020
ΟΤΥ	DESCRIPTION	UNIT PRICE	LINE TOTAL

Mom's Mask FIT FIRST

64 St-Laurent, Montreal, Quebec Phone 450 - 346 - 1267 Moms@Masks.com

INVOICE # 2020-14 DATE: 10/2/2020

Make all checks payable to Celine Dupuis

QTY		DESCRIPTION	UNIT PRICE	LINE TOTAL
4	Wedding Masks		200	800

SUBTOTAL	800
SALES TAX	104
TOTAL	904

75

To Mathieu Wong

SALESPERSON	JOB	PAYMENT TERMS	DUE DATE
Celine Dupuis	Designer	Due on receipt	12/8/2020
QTY	DESCRIPTION	UNIT PRICE	LINE TOTAL

QTY		DESCRIPTION	UNIT PRICE	LINE TO
5	Deluxe Masks		15	

Mom's Mask FIT FIRST

64 St-Laurent, Montreal, Quebec Phone 450 - 346 - 1267 Moms@Masks.com

INVOICE # 2020-15 DATE: 10/24/2020

Make all checks payable to Celine Dupuis

SUBTOTAL	75
SALES TAX	9.75
TOTAL	84.75